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N/Ref.: PROJETISTA Revisao: 0
Item num.: 1 Tag num.;
Bomba: KRT K100-401 Projeto:
Vazéo: 72,0 m3/h NPSHR: 0,50 Diam.Rotor Projeto;  377mm
Altura: 75,59 m Rotagéo: 1750 rpm Visc.: 1 ¢St
1wl TTTTTTIRT =
Dlulln iﬂ-lHB-!. i
T AR R -+t
i AROAG0 i ———
— [ r——
i e I ] 1T
Dinmm 370/270 A'-r_._' = i ) B e sy = e I et
ind s 2 R Ry e~ O | r—t—
/8 ‘bmim:l"]ma:\]:\ ! h-“‘-‘-""‘::h'---__ H--""‘-«-.. _-“'-*-;-.
T —— || O e L I B
60 pumang | = ""“--...___:‘--.______- i
I T —t— h---"“-‘ r----""---, ‘"‘"—-.___
~tBinm 3107310 : —— o O e Y i =
s0 [P L =t — | ~—
i _-__"‘"--. [ T—— -“""“--
40 ! ST — T ——
o "-______“-- h---'"""*-..___
3o i & B
i _-"‘-1..___“____“-
20 ; ) T
10
0 20 40 60 80 100 120 140 160 180 200 220 240 260 280 300 320 340 360 380
Q=m3i/h
A = Ponlo de operagilo
5.00 W l [ 8o
| ____..--"'"-
4,00 I ; u's A= e 70
NPSH i T A
l L
o e L~
3,00 ‘ T 60
i //
" ! A
2,00 \ i S i 50
I
1,00 ' 1 - ib
Q‘QQ - ; i F— —_— - - = PP 30
0 20 40 60 BO 100 120 140 160 180 200 220 240 260 280 300 320 340 360 380
Q=m3a/h

Rendimento %
—. . NPSHr




cee b.)

N/Ref.; PROJETISTA Revisao: 0
ltem num.: 1 Tag num..
Bomba; KRT K100-401 Projeto;
Vaz&o: 54,0 m3/h NPSHR: 0,50 Diam.Rotor Projeto;  358mm
Altura; 67,39 m Rotagéo: 1750 rpm Visc.: 1 ¢St
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